

5/17/23

Sanya Vidale City of Hartford

Dear Sanya,

Thank you for reaching out regarding your collected brush pile. Renewed Earth works with many local communities by providing an outlet for their accumulated leaves and brush. We utilize clean leaves and woody yard waste to produce products which are sold for landscape maintenance and construction projects.

Unfortunately the pile of wood/brush I observed had two issues which prevents me from introducing it into my product stream. Some of the material has decayed. As it ages and decays the amount of useable wood fiber is decreased to the point where it is not suitable for processing into mulch.

While some of the pile certainly contains some sufficiently fresh wood the foreign material such as couch cushions, plastic bags, and metal require the pile to be manually sorted. This would take a substantial investment in man and machine hours to accomplish.

Please, let me know if I can be of more assistance.

7 D Ch

Sincerely,

Daniel R. Glas

Sanya Vitale

From: Adam Dobbs <ADobbs@bestway-disposal.com>

Sent: Tuesday, May 2, 2023 4:53 PM

To: Sanya Vitale

Subject: RE: City of Hartford

Goof Afternoon Sanya,

Thank you for reaching out for a quote on the removal of the yard waste material. Unfortunately at this time, our disposal facility is not interested in the material as it sits. If you have any other questions please feel free to contact me. Have a great evening.

Sincerely,

Adam Dobbs Account Manager & Compliance Officer Best Way Disposal (269) 463-3232



From: Sanya Vitale <citymanager@cityofhartfordmi.org>

Sent: Tuesday, May 2, 2023 2:49 PM

To: Adam Dobbs <ADobbs@bestway-disposal.com>

Subject: City of Hartford

CAUTION: This email originated from outside the company. Do not open links or attachments unless you recognize the sender and know the content is safe.

Adam,

Understanding that the cost would be expensive, could Best Way still provide an estimate to haul out the materials we looked at last Friday?

I am trying to gather 3 estimates.

Let me know.

Thank you in advance.

Respectfully,

Estimate

DATE	ESTIMATE #	
5/2/2023	101	

BILL TO

City Of Hartford Compost Site 66460 56th Ave. Hartford MI 49057

RECEIVED

MAY 02 2023

CITY OF HARTFORD

ITEM	DESCRIPTION	QTY	RATE	AMOUNT
1/08/2021	1 Tube Grinder & Man	80	350.00	28,000.00
- 100 to	1 Front End Loader & Man	80	85.00	6,800.00
	1 550 H Dozer & Man	80	85.00	6,800.00
	125 Yd Walking Floor Truck, Trailor & Man.	80	125.00	10,000.00
	Tipping Fee at Compost Site	2,500	8.00	20,000.00
	Grind & Remove all Compost from Compost Site.			0.00
	Estimate Good For 60 Days.			0.00
	Upon Approval will Write Contract.			0.00
Thank you for y	our business!	Subtotal		71,600.00
		0% Tax		0.00
		Total		71,600.00
		Balance Due		71,600.00

-Proposal-



Puhrman Hauling

RECEIVED

MAY 02 2023

68706 Red Arrow Hwy. Hartford, MI 49057

CITY OF HARTFORD

269-519-3008 | 269-876-1587 | 269-277-2207

PROPOSAL SUBMITTED TO:	JOB NAME	JOB# 2023					
ADDRESS	JOBLOCATION Sewer plant						
	Sewer plant DATE 5-2-23	DATE OF PLANS					
PHONE # 621-2477 FAX #	ARCHITECT						
He hereby submit specifications and estimates for:							
L'lean un	at sever pla	int removal					
and leveling	*						
15 to 17,000 years	ef debris a	18.75 mer yeard					
		Jet Squa Jet					
50% down up	50% down upon contract Signing						
the other 50 % up	a canalalia						
The Sine Son of	in completion						
Pe propose hereby to furnish material and labor – complete in accordance with t	he above specifications for the sum of:						
\$ 318, 750.00		Dollars					
with payments to be made as follows:	11 . 1						
Any alteration or deviation from above specifications involving extra costs will be executed only upon written order, and will become an extra charge over and above the estimate. All agreements contingent upon strikes,							
accidents, or delays beyond our control.	Note — this proposal may be withdrawn by	us if not accepted within 45 days.					
Acceptance of Proposal							
The above prices, specifications and conditions are satisfactory and are hereby accepted. You are authorized to do the work as specified. Payments will be made as outlined above. Signature	re						
Date of Acceptance Signature	re						